5 D =

MATLAB WHEITH

MATLAB $2 it 7 V5 2 HI T b BRECE 12 5 /9 R 80, P m] AT (8 3 52 AR VT 55
Z I A B 7 R R ) .

3.1 ZMAWMAESEER

311 B A MG e @

1. MBI IR
£ MATLAB #855 F . 2501 F k5
p(x) = ayx" +ayx2" '+ +a, x+a,
AT DU e ) i i SO B0 p=[a0 a1 - a1 a, s
o] i e A7 I M TC R KRR Z A 0 By R 8L ] A BURIRR R 230000 1 Br 2502 Bir
FH3 G RA W& vl , MATLAB %R E X9 Z 000 = 8. flan, 2%
KR 6 325 F4P 20 +7 .7 MATLAB SR TFHEER R FN6342 7],

2. ZMANCIE

(Up e AT WS R SR LA

(D) Fk—: HiER AL

£ MATLAB #fiv 4 % 1 B35 A 22 100 20 59 & B01m) &, SR 5 R 5% 46 ok 20
poly2sym ¥ Z 1 =X i 2R B s il iR 55 3y Z 0 XA B 20, 2, B 9 45 T 7 )
AP0 UEE

[ 3-11 7 MATLAB ¥4 F R H B AL A #ZT A 2° 432" — 2245,

B A

>>p=[13-25]; EEAEMIES gl
>>poly2sym(p) s L 2 T ik 5
BITH RN

ans=

X3+ 3% x"2-2% x+5
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(2) Fk— . FRE 2 Ak

H1 BREL poly $& B n B RRAE 22 15X R B0m) 3% R B B R SR — TR AU 1.8 5

FH eR K poly2sym H H e o Al 2 I i ik 5

2 1 3

(6] 3-2) THEM M= |4 2 1| RHEBFEZHRHRLRX,
1 2 3

RPN

S>M=[213;421;123];

>>P=poly (M) % A2 URRAE 22 T R B ) &

BATEER N

P=

1.0000 -7.0000 7.0000 -15.0000

>>poly2sym (P) s A BRI 2 30 2 1 2R 5 X

BTSSR N

ans=

XN3=T7 % x"2+7 % x=15

(3) Jrik = AR A 2 i

AT LA & 7 ) 22 0 X R 1) oA 1) s 22 10U [R] Ry e KR poly SEBE

[(513-31 2R E L —0.5 —0.240.3i
1 Z ARk

PP BT H

>>r=[-0.5-0.2+0.31 -0.2-0.31];

>>p=poly(r)

BATERN

p=

1.0000 0.9000 0.3300 0.0650
>>poly2sym(p)

BATHR

ans=

x"3+9/10 * x~2+33/100 % x+13/200

312 ZNAMiEE
1. R BRARME

—0.2—0. 3i], 3Rk HXF R

SRZ A BE R I A PIFr . — e $e 8o s S 355, h BR AL polyval SE3L; 75

— bR B 1 12 S L5 R eR R polyvalm e SEER .
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[ 3-4] KLU 42" —22+10 7 5.6 F1 8 AL HIMH .
BRI

>>p=[4-2 10];
>>x=[56 8];
>>polyval (p, x)

BATEE R

ans=

100 142 250

[5i 3-51 i%ﬁﬁ4ﬁ—h+mﬁ?ﬁ%(
BIF RN

j DM@O

>>p=[4 -2 10];

>>x=1[35;72];
>>polyvalm(p, x)

BATERN
ans=
180 90
126 162

2. RZBMINHIR

RZBA MR, BISK 23X Fm A E . £ MATLAB PREE T SRAR I A 7 fh )5 2
— P 2 T AR BREL roots SRR i 22 1 =0 B AR 19 07 55 O3 b — R o7 ik 2 e sk 2 i A
P Bt B SRR PR Z2 0 AR . 3k BLAA Y T — b O

[ 3-6] RZLWWizL 2° +52" —62°+102" +32+20 R,

R

>>a=[15-610 3 20];

>>r=roots (a)
BATHRN
r=
-6.2232
1.1158+1.18531
1.1158-1.18531

-0.5042+0.97911
-0.5042-0.97911

3. ZMABIND. Wiz&E
Z2 35 R iz B 0 22 T O N 0 FR R L s . 2 Y B on] A TR] B AR
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PEAT 22 T 3RE S I8 >4 7 AR B 22 201 XA i T80 Ah 720 o folt e R 25 75 DU AN BEEA 70

[F 3-7) XIPANZLZIW o' +32° —22+3 Fl 22 +32+4 470888,
BRI N

>>a=[130-23];
>>b=[00134];

>>c=a+b
BTSSR N

c=
1 3 1 1 7

>>poly2sym(c)

ans=

XM+ 3 % xAN3+ N2+ x+ 7

4. ZIMHBIFE. BRIZH

2 T Y e vk G B BREL conv S B 5 22 I R 125 02 55 H BRI decony SEEEL.
[5]3-8] THEMWANLZIA o° +52"—2x+1 Fl «+5 (IR,

(> Sl

>>a=[15-21];

>>b=1[15];

>>c=conv (a,b)
BATEE RN

c=
1 10 23 -9 5

>>poly2sym(c)

ans=

XM+ 10 % x"3+23 % x"2-9 % x+5

[5]3-91 ZWX o° +52° —22+1 5 o +5 BERkEH.

BIFEItHh .
>>a=[15-21]; R EEN
>>b=[15]; 1 R E .
>>[q r]=deconv (a,b) Sq RARBRIEZBHE IR, r RARRIEZER MR
BITHT RN
q=
1 0 -2
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>>poly2sym(q) sHMZm A FENL
ans=

xX"2-2

5. ZMAHMRD

Z WL 05 e R B polyder 528 5 Z2 10 2 AR 43 1 B4R polyint 528,
[ 3-10] RKZ1W= 32" — 222 +522 —102+6 B — B S50,

(S ang

>p=[3-25-106];

>>polyder (p)

BATEE RN

ans=
12 -6 10 -10

>>poly2sym(ans)

ans=

12 % x"3-6% x"2+10*% x-10
[53-111 KZHAK 122° — 82" +6x—5 I,
R
>>p=[12 -8 6 -5];
>>polyint (p)

BATHR

ans=

3.0000 -2.6667 3.0000 -5.0000 0
>>poly2sym(ans)
ans=

3% x"-8/3% x"3+3% x"2-5% x

6. MBS NEBFF
TELR M 2 40 ) 8 HL IR e 75 B S A8 e A Z AR e rh L 22 2R B 22 10 0 43 5K
JEIFITG 0L o — A 2 IR LU il R 358 00 sCR 155 B0 -

num(x) _ 7 7y "
den(x) IJr]J]JrIJr;Der +I+[)n

it:qj sDroDas s Pa %ﬁ*ﬁ){_\:‘;;rl sTg 9% 51, %iﬂ%ﬁvk(f)%j‘jﬁﬁIﬁo
MATLAB $& it 7 — 2 gk 17 Z 1 08 73 73 R IF iz B ek 8. Horb 5 TH I R B
residue, & A VE F#% 00

+ k(2)

[r,p,k]l=residue (num,den)

A num F den 7351 2 7R 22 51 5004 70 5 A o308 22 T XY Z 800 s rap ke 230 D B R
A KRR R
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[F] B o A DK 4 43 20 I e 46 o D 2 0 AR IR X num () A1 den (o) R &2, 4
FH Y R BOR 2R
[num,den]=residue (r,p, k)

) S = ‘num(l‘): 10(x+3)
(51 3-120 RZH S = D (P et 3

BRI

(¥ oo R IT

>>num= [10 30];
>>den=[12 4 3];
>>[r,p, k]l=residue (num,den)
BATEE RN
r=
-3.3333-4.02021
-3.3333+4.02021
6.6667
p=
-0.5000+1.65831
-0.5000-1.65831
-1.0000
k=
[]
Horpr,“k =[ 17 FRR A HB .
. . (x) 52 +3x*—2x2+7
| 3-13] kL mizt it =
LB 3-131 R = T 8r 1 3

FEF

38 3 I

>>num=[53 -2 7];
>>den=[-40 8 3];

>>[r,p, k]l=residue (num, den)

BATERN

-1.4167
-0.6653
1.3320

1.5737
-1.1644

-0.4093

-1.2500



) 102+20

| T num(1
(6 3-141 k= —t n(zx) (x+D (7 +2+3)
BBt h .
>>num= [10 20] ;
>>den=[1 2 4 3];
>>[r,p, k]l=residue (num, den)
BATEE R R

r=
-1.6667-3.51761
-1.6667+3.51761

3.3333
p=
-0.5000+1.65831
-0.5000-1.65831
-1.0000
k=

3.2 HMHEKE

MATLAB $2 4t 7 3K fift 75 2 i —
PSRRI AL

321 RAPERNKET AN KR
E MATLAB 1, {#i FH solve

[X1, %2, ,'lean, ')

xR TR

WHFE ax+bxr+ce=0 BR .,
T i AR A

, X, ]=solve('eqgn, ', 'eqgqn, ', **
RARX n DNRANAERE 2,20,

[%13-15] k—ot—
fﬂﬂ?
>>solve ('a* x"2+b* x+c', 'x")

IS

ans=
[ 1/2/a* (-b+ (b"2-4% ax*x c)”
[1/2/a* (-b-

oE R A O R R A A A

(1/2))]

(b"2-4xaxc)~(1/2))]

>> [x]=solve('a* x"2+b* x+c')

$B3Z MATLABHIHIEITE 45

oo AT .

S R K AR RO BRI 7 R LA D

BRBOR KT A, R A% U8
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BoRER N

x=
[ 1/2/a%* (=b+ (b"2-4%axc)"(1/2))]
[1/2/a* (-b- (b"2-4%xaxc)”(1/2))]

BEAb i ml LRI solve fi &SR i T QRO PR fig . RIACEOT R 4L i

xtytz=2b
(5] 3-161 SRACKE T B4 20+ y+22=2b (1.
2x+2y+=z=5b

TEAT A L R A AR 4

>>eqnl="'x+y+z=2%Db';
>>eqn2="'2% xty+2% z=2%xDb';
>>eqn3="2% x+2% yt+z=5%Db';
>>[x,y,z]=solve (eqnl,eqn2,eqn3)

ZERWIRA
v
b
Y=
2%b
-
-b

322 BnuRRH D REAMN KK
#E MATLAB i 1 dsolve WK A 3 B0 7 B2 3E3FTR 0
[vi,yz2, " ]=dsolve('egn: ', 'egn; ', ")

A A can T LU T BRI 1 L0 90U A 38 7T 5% 00 g

Ak, R T B2 BT R o B R 08 A U S A R
FEAEK BT BRI 0 B S e Dy, i, S 8T Y g Dy

Dx.D2y #1 D3y,

(%&U}ﬁ%%:ﬂ+ha

FEFF T BB AT 45 R

>>y=dsolve ('Dy=x"2+2% x','x") SR B oy O AR, x A B A ST AR
y=
1/3 % x*3+x"2+C1 SCL NE IR &t

d*y

CESD eSS

—8 6y =0 ik, W KA v (0 =0,

dy | _
dx =0 1.
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P PP it BB AT 45 R o

>>y=dsolve ('D2y-8 % Dy+6y=0"', 'x") o 3R B sk o o R A
y=

3/4 % x+C1+C2 * exp (8 * x)
>>y=dsolve ('D2y-8% Dy+6y=0"', 'y (0)=0,Dy(0)=1","'x") % 3R B sk o O R A A
y=

3/4% x=1/32+1/32 % exp (8 * x)

J(ilt&r—f—liy
(6 3-191  K—Birissr i # el 4 HIfR . WIS 2(0)=0,y(0)=1,
1£4x—|—3y

(SN S WSS T

>>eqnl="Dx=3*% x+4x y';

>>eqn2="Dy=-4% x+3 % y'

>> [x,y]=dsolve (eqnl,eqn2, 'x(0)=0,y(0)=1")
x=

exp (3% t) * sin(4* t)

exp (3% t) ¥ cos(4*t)

3.3 HMZLWE5HEE

331 M %&Hl &

TEVF 22 SEBR I AR v i S RE I A5 — L8 70 B B0dl v . O T BB DAk 26 73 B i £
3 5 R R B AT A A AR AR S AT TR B 3 26 70 BIAY BOHE L 38 T e/ Rk glﬁﬁ
iﬁﬁtﬂ’]ﬂ’ﬂl?@téﬁé&%iﬁi AT 22 100 Xl ek RO A T T 28 LR AY BN A X

T FERR N L5

HI T MATLAB #2441 7 58 A4 1153 D RE A2z 81 D R, (45 1 7w RUAR 75 0 3t 3E 47
S XSS RPIR/S HHHE /e dEiN

AU 0 R P A FEAR . AL G R fF Ay ROz At thi? T
T LLVE 2 AN R B 7 15 8 St LG I A7 AR JC 95 B B 4R T2 e AR UL Bl A R
oA TR R B /N 2 7 O M. EL T T A 2 BR G O 22 I IR 4 il e U R A Y
] B B R BRR O d/h TRk 2 . /b ARk i 24U G R A E O B i L
Tiike

MATLAB $2t T polyfit bk ok K i fi /b — e ik fh A& (L. & B9 A% U0

polyfit (x,y,n)

Fo S0 e/ — A€k Xt B 4 58 2l oy 2EAT n By Z2 000G FLAR [l {2 — > 22 00
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S VGUERI LR
(51 3-20] S AAESCIHs ank 3-1 i . MU polyfit sRECK Hdm /b Sk Atk .
® 31 LWHIE
x 1 2 3 4 5 6 7 8 9 10
y | —0.47| 1.98 | 3.3 6.2 | 7.1 7.3 7.7 10 9.5 9.3

TR polyfit ek B, wa 2045 H R BT 7 28 00 K8 o« %ﬂ v+ LU B B R U5 2

00 2 LR BB . AT =1 o B B o 0 2
BT
>>x=[12345678910];

>>y=[-0.471.983.36.27.17.37.7109.59.3];

>>a=polyfit(x,y,1)
BATHRN

a=

1.0835 0.2320

T AR A ) 22 0 ROk KO B U E TR L TE A

1% Enter 5271\ .

>>x1=1:0.05:10;
>>yl=a(l) * x1+a(2);
>>plot(x,y,"'* ',x1,yl,'-")
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